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Name: Number: Section:
eUseful information:
Speed of light, C=3.0x10° m/s
Planck’s const., h = 6.626x10* J.s
Avogadro’s No., N,y = 6.022x10* mol™
Rydberg const. for H atom Ry=2.18 x107 J
Mass of the electron, m,=9.11x107" kg
Gas constant, R=0.082 L atm K" mol™
1 4
i PERIODIC TABLE &
Hyvdrogen s % Helium
1 K Relative atomic mass to 2
7 9 ei nearest whole number 1 12 14 16 19 20
Li | Be 12 B C N (0] F | Ne
Lithium | Beryllium e —— . Boron Carbon MNitro, Onoy Flourine Neon
3] 4 cgm Symbol 5 6 71 8 | 9 | 10
3| 24 6 ——> Atomic number 77 | 28 | 31 | 32 | 355 | %
Na | Mg Al | Si | P S | Cl|Ar
Sodiom | Magnesism ) Silicon | Phospb Sulfir Chiorine Argon
11 12 13 14 15 16 17 18
39 | 40 45 48 51 52 55 56 59 59 | 635 | 65 70 | 725 | 75 79 80 84
K| Ca| Sc Ti | V|Cr|Mn| Fe | Co|Ni |Cu|Zn|Ga| Ge| As | Se | Br | Kr
Poltsssum | Cakeimm Seandum Titanium Venadium | Chrommum | Mamgeese bron Coball Mickel Copper Zine Calfium | Germuniom | Arsenic Selenium Bromane Kryplon
19 | 20 21 22 23 | 24 25 26 27 28 29 30 31 32 33 34 35 36
855 86 89 91 93 | 96 | (96) | 101 103 | 106 | tos | 112 | 115 | 119 | 122 | 128 | 127 | 131
Rb| Sr Y Zr INb|Mo| Te | Ru |Rh [ Pd |Ag |Cd | In | Sn | Sb | Te I Xe
Rubidium | Strontiem Ynrum Zirconium Naohwum 4 T R Rbodnmm Palladnen Silver Cadmiem Indmum Tm Anumony Tellurium lodne Xenon
317 | 38 39 40 41 | 42 43 44 45 46 47 48 49 50 51 52 53 54
133 | 137 | 139 | 1785 | 181 | 184 | 186 | 190 | 192 | 195 | 197 | 201 | 204 | 207 | 209 [ (210) | (210) | (222
Cs|Ba|La| Hf |[Ta|] W |[Re |Os | Ir | Pt | Au |Hg | Tl | Pb | Bi | Po | At | Rn
Cesiom |  Barium : Hathium | Tomiadum | Tungsten | Rbeniom | Oswum | Irdiom | Platimm Gold Mercury | Thallium Lesd Bismuth | Polonium | Asutine Radon
55 | 56 57 72 73| 74 75 76 77 78 79 80 81 82 83 84 85 86
(223)| (226) | (227) | (261) |(262)] (266) | (264) | (265) | (268)
Fr| Ra | Ac| Rf [Db| Sg | Bh | Hs | Mt
Franenan Radium Actmnan Dboium Hohmen Hassan | Mamenum
87 | 88 89 104 |105s| 106 | 107 | 108 | 109
140 | 141 144 | 145 | 150 | 152 | 157 159 | 1625 ] 165 | 167 | 169 | 173 | 175
Ce| Pr |[Nd |Pm [Sm|Eu| Gd | Th | Dy | Ho | Er [ Tm | Yb | Lu
Cerum ymi by F -t Ewroprm I Terbien | Dysprosium | Holmium Esbaum Thalhum Yoerbman | Luletium
58 59 60 61 | 62 | 63 64 65 66 67 68 69 70 7
| 31 | 38 | 37 | 28 (@8] @4n | @4 | (25D | 252) | (257) | 258) | (239) | (262)
Th| Pa | U p({Pa|Am| Cm | Bk | Cf | Es [Fm [Md | No | Lr
Thorum Protsctinsum Uranium el | Plutomium Curium Berkel Cali Ei Fermium  Mendeh Nobeliom | L. i
90 9] 92 93 | 94 | 95 9% 97 08 99 wo | 101 | 102 | 103
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Choose the correct answer

A-1 Prefixes giga and deci represent, respectively:

a) 10°and 10".  b) 10°and 10°. ¢) 10°and 10° @A) 10’ and 10,

A-2 If 586 g of bromine occupies 188 mL, what is the density of bromine in
g/mL?

b) 0.321 g/ml ¢) 3.63g/ml d) 3.08g/ml

| ”I‘\ f‘\.‘ {
A-3 3.5 nanometer contains how many micrometers?

a) 3.5x 107 ¢) 3.5x 10* d)3.5x 10°®

A-4 The element in group 2A and period 3 is:

a) Ga b) Be c) Al

A-5 Predict the formula of a compound formed from Sr and CI?

a) Sn.Cl b) St:Cl, d) StCl

A-6 Which compound has the same empirical formula as C¢H,04?

a) C2H»04 b) C2HgO4 ¢) CsH304 d) Ci2H24012
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A-7 An atom is

~a) Smallest unit of matter that maintains its chemical identity.

b) The smallest unit of a compound.

¢) Always made of carbon

d) Smaller than electron

A-8 The right answer is:
a) Compounds are: N, NH; , H,O and CH,4
b) Elements are: N», H,O, H; and F»

¢) Molecules are: N, H, F; and Cl; and Fe,SO;

d) Compounds are: NH3, O,, H,O and CH,4

A-9 Rubidium (Rb) and cesium (Cs) are members of which of the following

categories?

a) Halogens ( b) Alkali metals ¢) Alkaline earth metals ~ d) Noble gases

A-10 What is the number of protons, electrons and neutrons in the atom of

Rg-29
]6S -

a) 32 protons, 34 electrons, 16 neutrons b) 16 protons, 16 electrons, 16 neutrons

¢) 16 protons, 18 electrons, 16 neutrons d) 18 protons, 16 electrons, 32 neutrons
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A-11 The correct systematic name for Cr,0; is

L___El Chromium (IIT) oxide. b) Dichromium trioxide.

¢) Chromium trioxide d) Chromium oxide.

A-12 The correct formula for calcium sulfate is

a) CaHSO; ¢) CaS d) Ca(HSO),

A-13 Gallium consists of 60.108% “Ga with a mass of 68.9256 amu, and

39.892% "'Ga with a mass of 70.9247 amu, the average atomic mass of

gallium is:

b)71.62amu  ¢)68.93amu  d)69.723 amu

A-14 Which pair of Atoms would be most likely to form an ionic compound?
a) Cand N b) K and Ca ¢) Pand Ar

A-15 Two isotopes of the same element differ only in their

b) Atomic number

¢) Number of protons d) Number of electron

A-16 What is the mass in grams of one atom of iron (Fe)?

a) 6.02x10%g  b)1.66x10%g ( €)93x10% gy d)5585¢

A-17 A 4.691 g sample of MgCl, is dissolved in enough water to give 750 mL of

solution. What is the molarity of this solution?

a) 3.70x10°M b)1.05x10°M (¢)6.58 x 10°M ) d)4.93 x 10> M




A

A-18 Calculate the percent composition by mass of C in picric acid
(C6H3N;07)?

a) 13% b) 18.3 % d) 48.9 %

A-19 How many molecules of ethane (C,Hg) are present in 0.30 g of C;Hg?
a) 1.20x 10% b)1.00x 107 ¢)8.03x10*"' (Cd)6.02x10

A-20 The empirical formula of an organic compound with 85.7% C and
14.3% H is

a) CH ¢) C:H d) CH,

A-21 After balancing the following equation the coefficients are:
aCHg + b0, — ¢CO;, +dH;O
a) a=l1,b=5,c=2,d=4 b) a=2, b=5, ¢=3, d=4
¢) a=1, b=3, c=3, d=4 d) a=1, b=5, c=3, d=4
T¢2

A-22 Calculate the number of O atoms in 2.50 g of sucrose (C;;H,01;)

a) 3.87 x 102 ¢)581x10%  d)6.78 x 102

A-23 An empirical formula of an organic compound is C;H O, , if the
molecular weight of the compound is (360 g/mol), the molecular

formula of the compound will be:

a) C5H504 b) C]2H1603 C) CgH120¢ @

A-24 How many moles of FeSO, are present in a 500 mg of this salt?

a) 1.64x10° b) 2.30 x 10° d) 4.93x 10°
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A-25 How many milliliter of water must be added to 200 mL of 0.15M Na,CO;
to prepare 0.05 M Na,CO;?

a) 200 mL b) 300 mL d) 450 mL

A-26 What is the theoretical yield of chromium (Cr) that can be produced by
the reaction of 40.0 of Cr,0O; with 8.00 g of aluminum (Al) according to

the chemical reaction? _
/52 £2

2 Al+Cr20|3 - ALO; + 2Cr
% 403’\_7--—

©)194g > °%2¢ d)13.48¢
o-294_© -2#"5;#/ —> 03¢

A-27 If the actual yield for the experiment in question (L) produced 13.0g,

what is the percentage yield?

a) 84.4% b) 75.0% ¢) 67% d) 96.4%

A-28 The mass of Na that will react with excess of water to produce 16.0 g
NaOH is
2Na(s) + 2H,0(/) — Ha(g) + 2NaOH(agq)

a) 5.75g b) 6.90 ¢ ¢)8.05¢ d)9.20 g

A-29 A 100.0 mL of 0.25 M HCl is diluted with water to a total volume of

200.0 mL. What is the final concentration in the resulting solution?

b) 0.083 M ¢) 0.05M d) 0.0625 M

“4
A-30 What is the mass of carbon in 10 g carbon dioxide (CO,)?

a)4.1g €)682¢ d)545¢
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